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O=&l 1,260
o223 0iAH] 7,000& « 153 = 12& 1,260
02 22234l 2,500 2,500 0
O332= & AMA 2,500
o=Z3st2ld &3/l 700,000& * 13 700
= ZHOIXl SXIE=Hl 150,000& * 123 1,800
03 At HI 45,000 60,000 A 15,000
OX0tte de=23 MHIA
10,000,000 * 14 10,000
OX9HAALIER AN 10,000,000& * 14l 10,000
OMMSE 235X At 15,000,000 = 14 15,000
OZEin CIXE At 10,000,000& * 14 10,000
202 4| 1,200 1,200 0
01 =LA bI 1,200 1,200 0
OZsod =& MoIL &4
200,000& * 1% = 23| 400
OS2AE &XlAS 200,000& * 18 = 33| 600
OJ|12gesd 100,000& * 1H = 23| 200
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A= JIEHAL

U QFH -

it
T b
!
>
to
i
ra
>
I
Iz
Mo
1=

ot 2 2R
oHelr QESAILIISE

2 (&2
SN EE - SR(EN) - MR - BAS sl e HlRE2
AN 660,043 809,333 A 149,290
= 12,500
= 10,000
Al 637,543
8 -esads 637,199 785,549 A 148,350
2 12,500
= 10,000
Al 614,699
SEANEIISsEE 267,306 310,026 A42,720
A=z X 2el 167,725 215,152 NAT 427
201 et 151,685 149,752 1,933
01 AtS 22l 48,050 46,150 1,900
Ogel=gHl 9,600
oZ=stda A2F FY  800,000& » 128 9,600
O gx= 1,500
o M&Xe Xt 500,000& * 33| 1,500
SR 36,950
oA G 50,000 » 3H = 3 450
oA 50,0003 * 2% * 365 36,500
02 =234l 103,635 103,602 33
OAl & &I Xl 21,296
SIEMIAI RRNE+
10,000& * 29H4 * 123 240
clHEE Z€3I SAE= 300,000& * 12& 3,600
oZEi2tel AIAE RIS
11,0003 * 29H4 * 123 264
CX=FAEHSHEA RAES
800,000& = 123 9,600
olMAIA SZME & JISOUHE WX
41,000& = 128 492
o &MIIANE RXNES 150,000& = 123 1,800
oAHANE FXNE+ 50,000& * 12& 600
odtd)| FXE2+ 50,000& * 12& 600
ootHA RAES 700,000& * 23| 1,400
oco==Ald RIES 500,000& = 23] 1,000
cIZ2E RAES 500,000& = 23] 1,000
oMYA EFEZ 700,000 * 13 700
O=32=2% MAl 72,260
o¥3tx Eaa 3,000,000& * 12/ 3,000
oMIIHNMIfH =5 500,000& = 12& 6,000
oFAEIIZ 4,700,000& = 128 56,400
c&Gt=E A EZ 400,000 * 128 4,800
CcAEE BEMNERES 500,000& * 23| 1,000
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A= JIEFAR A SN REsAYSSH
N QEF - HERAE
ool QEBALIISEY (Etel: &8
- _ _ Muo
AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
o A 20N B 5 b 200,002 * 23 400
oSUsd AEE 55,0008 * 122 660
OXte e Bt 479
SHASABR XS24 479,008 * 13 479
Ot 9,600
o= U FH| 42H 80,0002 * 122 9,600
206 THEH 3,000 5,400 A2,400
01 MEH 3,000 5,400 £2,400
O - AZWSERSE &7
30,0008 * 10022 3,000
401 AlEHIL 2O 13,040 60,000 46,960
01 A& 13,040 60,000 146,960
OZIXE 24 3,000,0008 * 1744 3,000
O235 1 LEDEYS 17 DABA
420,008 * 12% 5,040
OBEAEZ MIIPLTAH 5,000,0008 = 14! 5,000
REHFH YT 99,581 94,874 4,707
101 @l24H] 63,081 59,874 3,207
04 JIZAH2ERNSES 63,081 59,874 3,207
OFA22RY 52,331
Sl 43,0009 * 2302 * 4% 39,560
oFXELY 43,0008 * 462 * 4% 7,912
ouRtag 43,0008 * 112 * 4% 1,892
SAAAZRAL  8,000% * 462 * BAIZ 2,967
OMZE2el AR
43,0008 * 502 * 5% 10,750
206 T2l 15,000 16,000 A 1,000
01 MEH 15,000 16,000 1,000
OHEZ Y (H2AB=Q 25)
50021 * 10,000 5,000
OZ Yz 2 2,0008 * 1,000 2,000
OO0k 3t 78 5002 * 10,000% 5,000
Ox=2el 59 ¥ H27Y
3,000,002 * 14! 3,000
401 AlEHIL 2O 20,000 15,000 5,000
01 A& 20,000 15,000 5,000
OZU £Z+ 25 (Sl A
10,000,0008 * 14! 10,000
OFZY IX 24TAb 10,000,0008 * 1944 10,000
405 THaHE S| 1,500 4,000 A2,500
01 RatUSEFHSH| 1,500 4,000 £2,500
OMZIl 2¢ 1,500,008 * 1CH 1,500
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Mo
1=

ST ANYY AMY (=CRE
AR BA - EHH O (3H) - HBAY - BES Of) & 04 dE = SmE=L
0fl &t 01
CQEHNYASY RS2
100,000& = 50& 5,000
CLEZTAIEYEN HESIMEE
5,000,000& * 1A 5,000
otttz &3l 300,000& = 23| 600
OAlH&HI KX 16,200
ostestsll SXES
21,000& = 10CH = 12& 2,520
osAI|l KA B 110,000 ~ 104 = 12&€ 1,320
oCCTVHRAIE %= 52,000& = 128 624
CQEHANYLSE LUBLAAY RN L4
650,000& = 12& 7,800
o= ROIFHIAIAE SN2
248,000& * 12& 2,976
o3t AIFCIEl AMBIA
10,0002 = 8 A = 128 960
206 M & H| 47,500 57,500 A 10,000
01 M=4l 47,500 57,500 A 10,000
AENE HHE & =32 200,000& * 20& 4,000
Ozx=&n7 999 500,000& = 74 3,500
OL=sANEsE=2 &TEME
50,000& * 8005 40,000
301 Lt Az 5,000 5,000 0
12 JIEt2 A2 5,000 5,000 0
OR2BISA B4 1,000,000& = 53| 5,000
401 Al&HIZ 20| 18,000 20,000 A2,000
01 Al&H| 18,000 20,000 A 2,000
OAMSST SRS FAT FYIBA
10,000,000& * 14! 10,000
O£=&1 g2at85)| 0|d XIS At
2,000,000 = 4CH 8,000
FRHMAHAMKLK(E=2H) 100,000 100,000 0
== 10,000
Al 90,000
307 212t0|A 100,000 100,000 0
= 10,000
Al 90,000
04 QIZtSHALE X 100,000 100,000 0
O3S ALK& 20,000,000& * 1Al 20,000
& 10,000
Al 10,000
OES2HME AR (AlHIZ=DF)
80,000,000& = 14! 80,000
SEAYAZAEMHTLY 11,400 34,000 A 22,600
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AR JIEAIR A SN REEAYSSY
Hu: 258 - HSAIE
S3 AANYY AHY (e @8
- _ _ Muo
- 2N EHCRA(FAH) - MFAE - BEZ Ol &+ 9K Ofl At ot HwsZ
206 T 2H| 11,400 34,000 22,600
01 T2 11,400 34,000 22,600
OZZE =M M 35,0002 + 10074 3,500
OB2H 2N 32,0002 * 1007H 3,200
OZC2Y 048 XY 32,0002 * 1007 3,200
OZEEHIT M 15,0002 * 10074 1,500
SEFERE 14,500 10,000 4,500
307 212t0IH 4,500 5,000 A500
02 QIAAMBE 4,500 5,000 A500
OBtEHERS X 4,500,008 * 14! 4,500
401 AISHIL L] 10,000 5,000 5,000
01 Al&| 10,000 5,000 5,000
OBFEEZEY AU 014 2A
500,0008 * 2015 10,000
sS2sggstslsl 4,000 5,000 A 1,000
307 2120/ H 4,000 5,000 A 1,000
02 IAPNBE 4,000 5,000 A1,000
Ogsestagszis 2X
4,000,002 * 14! 4,000
=R L 41,128 62,925 ~21,797
snpzey 29,028 24,905 4,103
101 Q1248 26,628 24,425 2,203
04 JIZH22RSES 26,628 24,425 2,203
onzyssn Fane 2,341
oJl23 43,0008 * 1% + 230 9,890
oFEaY 43,0008 * 1% * 462 1,978
o Rtag 43,0008 * 1% * 112 473
OU2Z LS oLy 12,997
Sl 36,5002 * 198 * 2302 8,395
oFE4Y 36,5002 * 12§ » 462 1,679
cExtg 36,5008 * 1% * 112 402
oNRRLY
6,85021 * 12§ 462 * BAI2! 2,521
ouzzseme MEXY e
43,0008 * 152 * 2% 1,290
201 Ygreg| 2,400 0 2,400
02 ZZ2YYl 2,400 0 2,400
OAN&EHIS ] 2,400
oHZAYYUSH ANLRN LS
200,0008 * 122 2,400
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© JIEFAL
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1=

Mo

SN EE O () - MRAY - BAS 0 Ak o1 gggf; HRS2
SZ2ZAEISE 12,100 38,000 A 25,900
401 AIEHBIZL 20| 12,100 38,000 A 25,900
01 Al&HI 12,100 38,000 225,900
OSEAA A) 3,000,000 x 14l 3,000
Otz B3 Al
5,000,000 * 1IoHA 5,000
OCCTV 2+l 700,000& = 3CH 2,100
OFAIA E BADA
2,000,000& * 1JH2 2,000
HHESALH (TS A 22,844 23,784 AN940
Jl23Hl 22,844 23,784 A 940
Jl2& | 22,844 23,784 AN 940
201 Et23d| 13,104 13,104 0
01 AtR22telyl 12,504 12,504 0
Odet=2H| 7,800
oHHANRESHI 220,000& = 12& 2,640
o™ AH|4=2ldl 130,000& * 12& 1,560
o J|Etx=ZH| 300,000& = 12& 3,600
OZ &l 4,704
oJ|l2g R Al
7,000& * 149 x 48 4,704
02 ss2494l 600 600 0
032012 600
oxmMdYs 15,000 * 128 180
o AJL0] 35,000& * 128 420
202 (4 5,100 5,100 0
01 2| 5,100 5,100 0
O=2LH Y] 5,100
oJlE2g 425,000& * 12& 5,100
203 YR =&l 4,640 4,880 N 240
02 HJAJMNMH =AY 640 680 N0
ORI RFR 40,000& = 16Y 640
04 EANSHERF=EH| 4,000 4,200 A 200
ORNSIERFA 4,000,000& * 14 4,000
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©OJIBFARE &

AN 2MSAE2CIAREL

23l 22 ¥ 2Y
2SANEE2Y - 2t cheld A
SR BB OS(5) - NRAY - BAS 0l & e Hlm= 2
SAE2ACIANR A 1,430,731 2,028,879 A598,148
Ol 2el € 22 1,181,455 1,194,066 212,611
FSANE2Y - 22 1,181,455 1,194,066 A12,611
AL Xl 2el 781,111 681,104 100,007
101 Q14| 66,787 64,947 1,840
04 JIZtMZ22XSE+ 66,787 64,947 1,840
O&Azel o2d 66,387
=Jlg=z 43,0003 » 4% * 230 39,560
oFsd 43,0003 * 49 * 46 7,912
oA+ 43,0002 * 48 « 11 1,892
oA Ag
8,060% * 4% » 48AI2t » 11& 17,023
Oon =l 400
o OtM 5} 50,000& * 49 200
o &gt 20,0002 * 4H 80
o9 30,000& * 4H 120
201 23| 631,624 600, 357 31,267
01 AbR22lH| 32,230 32,230 0
Og Al 23,850
o X 50,000& » 18 = 112 5,600
o=7% 50,000& » 1% * 365¢ 18,250
Og&EAag & ME 50,000& * 12& 600
O1ul=tl 1,000
SAMERANES BHHES 100,000& * 10 1,000
OANER2E A7 1,680
S-PIYNEES 35,0008 * 45 « 43| 560
SXEAE 20,000& * 38 * 12& 720
oz 200,000& * 28 400
OFAN2E 2235 ¢ 3,600
oHAETRY SFEHX P 300,000 x 12& 3,600
OJ|Et=&H| 1,500,000 » 14 1,500
02 22234l 599,394 568,127 31,267
O3232= & HMA 372,335
oMz 372,335
JlEg 5,790& * 1,515KW » 123] 105,263
M= 843 * 210,000KW * 123] 211,680
SEZIE MIZ2(ZEfc, NESRH)
1,521,000& * 263l 39,546
FERE EHF MII=
296,000& * 122] 3,552
CAUAHOIEEE dMIIZ
207,000& * 123l 2,484
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A= JIEtAtE & FAN  2MSAE2EAIR A
M 2oz 22 ¥ 29
&t 23AE2Y - 2tel (Ehel: =3
MR- FH-E(BN) - R - BaS 01 &t o8 e HlRE2
= JIH ZHI X+ 1,000,000& * 23] 2,000
o &I &Hl XtIH 1,000,000& * 23] 2,000
oA #¢ 25,000 * 4008 = 13l 1,000
o3I .QUEI.HNES 800,000& * 23| 1,600
oL F&M P 75,000& * 10 750
c¥d+E A3 7Y 35,0002 = 200K 700
oldAUE ASH P2
40,0008 = 1598 23 1,200
o2& JlHLH 8% +Y
414,000& * 23| 828
oFArZel MM 2
30,000& * 10& * 103 3,000
OA& EHl sl 7,366
o & At2el KXl 7,366
Z ool =2 4,500% * 8,986 * 3% 1,214
SE3E 4,500 * 14,547 » 3% 1,964
SOtE 4,500& = 2,997 » 3% 405
2L s 4,500& = 3,915 » 3% 529
22 EJIE 4,5008 * 2,666 * 3% 360
AL BSEMS2 4,500 x 17,123 * 3% 2,312
<AL AIOIEZEE  5,000& * 1,164 * 10% 582
OJIEH EBI =Albl 27,565
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oA (UM, HES SLASHAXS Za
) BFEHHEEZ 150,000 « 1200 » 23] 3,600
oS ADISIA L TAIRA HAHZ202
60,000& = 128 *20H A 1,440
oEZAMISRALCTAMNRAE =XUHE 082
200,000& = 12& 2,400
O =4l 3,600
oEADISHAUINA L A2
12,000 » 3o A = 100L 3,600
OXtg &eHd] 108,000
oHAXE FFHI| 900,000& = 601 * 128 64,800
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¢ JIEFARR A M HEET

_ - PSfEN== =
K- B2 (BH) - HRAY - BES il b o =2
CHAXNEY +HR
400,000& * oCH * 12& 43,200
206 M=l 10,000 10,000 0
01 MHZHl 10,000 10,000 0
OBAXEY ASAE Y
30,000& * 250K * 23l 1,500
OFRE2H &ZX& XS 100,000& * 304 3,000
OMUIIZSHESE BHA OHYE
10,000& = 500K 500
OMIIZYN SSHHE SHHE
500,000& = 105 5,000
gI2tol ™ 210,000 170,000 40,000
QItFAE X 50,000 50,000 0
OMHIIMRS ADMRALY X2
50,000,000& * 14 50,000
IRt E 3 160,000 120,000 40,000
OZEA @ Ma)| oI2teler R el
60,000,000 * 14 60,000
OYRIMI| pI2teIetH 2
4,000,0002 * 253 100,000
AHobE SHI 90,000 80,000 10,000
RAe 2 EHSY) 90,000 80,000 10,000
OFAXE A 80,000,000 * 1CH 80,000
OgEarA MEY 5,000,000& = 2CH 10,000
sgd 2& 15,420 17,820 22,400
201 sty 13,920 16,320 £2,400
02 =234l 13,920 16,320 A 2,400
0Z223 2 HAl 11,520
cEWEI| LA HHARE
40,0003 * 123 * 2404 11,520
OAl & &= Xl 2,400
SN SRS (0lSLx ZE)
100,000& = 240H 2,400
301 Yere Az 1,500 1,500 0
12 JIEtE2 4= 1,500 1,500 0
oMgDl S=8EI Aln24 30,0008 » 509 1,500
AN EHI} 11,872 11,872 0
201 B3| 1,872 1,872 0
01 AtS 22/t 1,872 1,872 0
OB+ 1,872
CHANY RTEXEF M
36,000& = 5204 1,872




0z N>
J2

¢ JIEFARR A M

CEA - HB SR (BH) - NBAY - B dE = SmE=L
0fl &t 01
303 ZAa= 10,000 10,000 0
01 ZA2 10,000 10,000 0
OFAAIM L SHAFY 50|12 ZA 10,000
oX R 2,000,000 * 20024 4,000
o 900,000& * 40 3,600
o&d 400,000& * 602~ 2,400
LRABFZAL 29 55,560 89,034 N33,474
= 16,668
Al 38,892
101 1A | 55,560 89,034 N33,474
& 16,668
Al 38,892
04 JIZHMZ2ZzANHSE 55,560 89,034 N33,474
Oaz% 26,438
ollEgza 43,0008 * 1 = 250 10,750
= 3,225
Al 7,525
oAM= 946,000& * 1Y x 43| 3,784
o= 1,135
Al 2,649
oFE4E 43,0008 * 1Y = 52 2,236
= 671
Al 1,565
o AZt2lE 8,060 * 1H » 20 x A2t 1,290
= 387
Al 903
ocAHXH 43,0008 * 1H = 16 688
& 206
Al 482
o EH| 10,0008 ~ 19 * 270€ 2,700
& 810
Al 1,890
oz & 7,000& x 1€ = 270 1,890
= 567
Al 1,323
CAHEE (AMEE) 3,100,000& * 14! 3,100
== 930
Al 2,170
OI|2HA 29,122
ocllezs 43,000& * 2% = 150¥ 12,900
o= 3,870
Al 9,030
oFELE 43,0008 * 29 x 30 2,580
= 774
Al 1,806
o AlZ2t2I£=E  8,000& * 28 » 10 * 8A|2t 1,290
= 387

_49_




A= JIEAIE & PN MEEIAIHEA
Mu: YHE MBHY XA
SRl MYDISEM 248 & HEF (ctel &
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
== ° T (=) iy o L) ° TNs a3 &= 04| AFOH U=sa
Al 903
oAXtY 43,0003 * 28 * 5 430
& 129
Al 301
SINE=3sll 10,000& * 29 = 180 3,600
& 1,080
Al 2,520
o= 2l 7,000& + 2% = 180 2,520
& 756
Al 1,764
S4B E (AFS E) 5,802,000& * 14] 5,802
= 1,741
Al 4,061
MY IS SHsArE 22 E | 6,000 6,000 0
202 4| 6,000 6,000 0
01 =LHOA b 6,000 6,000 0
OMYIIZSEHM 843 =80
50,000& * 6% * 203l 6,000
B E0ISHA A3 3,800,000 0 3,800,000
305 tha=S 3,800,000 0 3,800,000
01 HiaZ2S 3,800,000 0 3,800,000
Ostdilstd M2 93
3,800,000,000& * 14 3,800,000
AF2aEe & HeEs 58 1,754,876 2,008,337 A248,461
SASFHIIE2 UUAE Hel 1,000,000 1,500,000 A500,000
307 QI2t01™ 1,000,000 1,500,000 A500,000
05 BIZtRIEZ 1,000,000 1,500,000 A500,000
OSA=FHIIZ BI2HE X
100,000& = 10,000& 1,000,000
SASFHIIZ £ HWEES NS 750,876 499,337 251,539
101 eldd| 75,250 71,687 3,563
04 JIZtMZ22XSE+ 75,250 71,687 3,563
OMEEE HENY o=l
43,0003 = 738 * 250 75,250
201 LEr243| 71,876 34,650 37,226
01 AtR22lH| 6,000 4,500 1,500
Ogdr=2H| 6,000
oZAZMY D 22lHiE 222 M
120& = 10,0000 * 25 2,400
ocMEEE 22tiE 222 ME
120& * 10,00000 » 3= 3,600
02 222ZH| 65,876 30,150 35,726
O332= £ HMA 6,876

_50_




= JIEtAIE & AN HESIAMEA
k

B A NE MEEY I
ool A U HES 53 R
Al = X XH Ctol (S = (o] HA X A} OH I|_-|L|;=|_l‘:_ =D}
— T

376,0008 * 104 * 18l 376
cUE - YENY BHE
400,008 * 24 * 13l 800
CTHESZY PEHE  400,0008 *10f * 13 400
CUE - YENT AANLLE
50,0002 * 204 * 23] 200
oTHEEXY AAL42
50,0002 * 1CH * 23] 100
CHYEBES +T2U44E
1,000,0002! * 53l 5,000
ORg Sty 45,800
cUE - AEXNY SF|
350,008 * 204 * 122 8,400
oMESZ(ZH) S
250,0002 * 30 * 122 9,000

500,000 « 2CH = 12& 12,000

oME &tz (&) +=2clidl

200,000 * 3CH * 12& 7,200
oAJI2H(ZH|) EOI 2L
500,000 * 4= 2,000
o™MEXIHXHEHl) EfOIN 2L
300,0008 * 4= 1,200
oMESXIHXH(EH]) HHE2 2
6,000,000 * 14l 6,000
OAlI & ZHI S XIH 13,200
olEEE AIM SXE4 600,0008 * 123 7,200
oSASMY I HEE QXSS
600,000 * 103 6,000
206 X 24l 33,750 63,000 A29,250
01 24l 33,750 63,000 29,250
O2A2MYI| HEZI 2
45,000 * 2504 11,250
OSAS2MY D] I ASAE 22
30,0002 * 5000 * 2& 3,000
OME2E =248 72 400,0002 * 2074 8,000
oMagz =el+) 1Y 7
4,000 = 11,0004 4,000
OHAXX £=HE 7 100,000 * 504 5,000
OHYEZS =g 7Y 250,000 * 1074 2,500
301 LB A2 150,000 180,000 30,000
12 JIEIB A= 150,000 180,000 230,000
ONegeE 3%z I
15020 = 1,000, 000kg 150,000
307 QI2toIA 150,000 150,000 0
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jxe MEeY T
NeEEer U HEE =X (el &2
SN ZB - SRI(S]) - MRAY - B S s e B RS2
05 2IRIRAES 150,000 150,000 0
OSA2M4dI] HEEI] MEH
120,000,000& = 14 120,000
O 2 NFHIIS 222 Hely
30,000,000& * 14 30,000
401 Al&HI YL =R OHYI 270,000 0 270,000
01 Al&H| 270,000 0 270,000
O=ZH4lY 2tol8s6tE &X
4,000,000& = 52 20,000
osalgd +dsH™ &XI(RFID)
250,000,000& = 14 250,000
AAEE L HE g 233l 4,000 4,000 0
202 (4Hl 4,000 4,000 0
01 =LA b 4,000 4,000 0
O U WES =7 ZV0HY|
50,000& * 4H = 203l 4,000
HY2LZH (MG L) 8,920,409 8,987, 156 NGB, 747
2l 8,886,089 8,952,836 N66, 747
=i ke ra Rl eall= (DN 8,886,089 8,952,836 AB6, 747
101 QI Z4H| 8,886,089 8,952,836 ABB, 747
03 RIIHAZZ XN 8,886,089 8,952,836 N66, 747
Oos3nlsd =¢ 8,886,089
A R=r=1 2,303,064
54 1,058,080& 218 * 12& 266,637
- 104 1,117,570& * 4598 * 12& 603,488
154 1,200,360& * 3198 * 12& 446,534
<204 1,280,330& * 47 = 128 722,107
- 254 1,365,620& * 14%H » 128 229,425
- 304 1,453,040 » 2% » 128 34,873
cHAHB(IIYE) 679,495
- b 1,628,080& * 60% * 43| ~ 21H 82,056
<104 1,687,570& * 60% » 43| * 459 182,258
- 154 1,770,360& * 60% *» 43| * 31H 131,715
- 204 1,850,330& * 60% *» 43 = 479 208,718
- 254 1,935,620& * 60% * 43| ~ 14H 65,037
- 304 2,023,040 » 60% * 43| » 2H 9,711
s (E2+E) 266,030
- 54 1,628,080 * 25% » 23] * 219H 17,095
- 104 1,687,570& * 50% » 23] * 459 75,941
- 154 1,770,360& * 50% = 23| = 319H 54,882
- 204 1,850,330& * 50% * 23|  479H 86,966
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SERSIISYN-PE SN MEBEAAYA
Hn: HESHAL (MESAAYL)
chel: ol (el & @
Al 32 t:sA_l X XH [:|-o|(=|):”) }\.||:|}\|,o-| A= Oﬂ/\}OH @Iﬂ_l;_ H|j§jk
== ° T R B i o ) ° . = * dos =5 0:”/.:"% Lsa
- 254 1,935,620& * 50% * 23| * 14H 27,099
- 304 2,023,040 * 50% * 23| » 29 4,047
oM (MEHEYI) 934,305
- 54 1,628,080 = 55% * 63| * 219 112,826
- 104 1,687,570 = 55% * 63| * 459 250,605
- 154 1,770,360& * 55% * 63| = 31H 181,108
- 204 1,850,330& * 55% * 63| = 47H 286,987
- 254 1,935,620& * 55% * 63| * 14H 89,426
- 304 2,023,0402 = 55% » 63 * 2% 13,353
oML (HHRAL)
40,0008 + 16098 * 12& 76,800
oBHRL(I}5)
20,000& * 160 = 2.0 » 12& 76,800
cHULY(ShUDLY)
90,000& * 160 = 123 172,800
CTUAL(HAT D)
70,000& » 160% = 123 134,400
SEEER=TCTUES=3
60,000& * 160 = 12& 115,200
o SDF MY (FHZAHI)
160,000& = 160 » 123 307,200
oS/ EMHI(JIHEEHI)
110,000& = 160Y » 12& 211,200
o= M (RSExHI)
140,000& * 160Y » 12& 268,800
o= &MYl (2HAlH])
1,800& * 160 * 262 * 12& 89,856
ose|lFMH(ZAEFIHI) 337,273
- 54 1,628,080 * 60% * 23| * 20Y 39,074
- 104 1,687,570& = 60% * 28| * 509 101,255
- 154 1,770,360 * 60% * 23| * 43Y 91,351
- 204 1,850,330& * 60% * 23| = 37H 82,155
- 254 1,935,620% * 60% * 23| » 8Y 18,582
- 30¢ 2,023,0402 * 60% » 23] * 2YH 4,856
oXIMUIPEY(AIZ2HR)
12,1473 * 1608 = 4AI2t « 128 93,289
oXWZ R (0k2H)
4,049 » 11098 » 26 * 12& 138,962
CEU2PLL(FLAHE)
48,5883 » 160% * 5& » 12& 466,445
oEWU2LPLY(AHI)
64,791& » 160 * 10 103, 666
oXHSHIBEx Y (5 W)
51,9903 * 160 * 0.3 * 43| 9,983
oXHSHIEXZ Y (1DSE W)
419,090& = 160 * 0.2 * 43| 53,644
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A= JIEtAIE & AN HESIAMEA
HH: HHSAPH| (MEEZAILD)
eI 2|
S BH - S(S) - NEAY - BES 04 4 o e
o Il =H| 64,000
Eagea 80,000& * 160F = 23] 25,600
f9 40,0008 = 160 » 13l 6,400
- Yet= 120,000& = 160¥ = 13 19,200
=l 20,000& = 1602 * 13l 3,200
e gt 20,000& * 160F = 22| 6,400
& 10,0002 * 160% * 23 3,200
o=0Ixa fH=  6,685,729,000& * 4.5% 300,858
cHUEH REI3
6,685,729,000& * 2.665% 178,175
oMIEEZ 6,685,729,000& * 5.17% 345,653
clIEZEEEE 6,685,729,000& * 1.75% 117,001
cE Xz RE=
3,597,000& * 9% + 20& = 150% 971,190
oMM ESHERS 62,500& = 160E = 13 10,000
ocEN=SAUI L WEH ExX
3,000,000& * 10¥ = 23] 60,000
| =&l 34,320 34,320 0
Jl=&Hl 34,320 34,320 0
201 et 20,600 20,600 0
01 At 22l 19,800 19,800 0
L=t 10,840
cHHPAMRE ARF F&  150,0008 = 102 1,500
cHIANRE NF ¢ 350,000& = 42l 1,400
oMAEH AT 7L
300,000& = 85 * 23l 4,800
cYWHAFES FHl #=clbl
150,000& * 65 * 23| 1,800
X2 =E 14,0008 » 5& » 123 840
oA E #HEE P2Y 100,000& » 55 500
O=gl 5,600
oJl2P R sS4l 5,600,000 * 14! 5,600
Oogx= 3,360
oF=Jl YXE 40,0003 = 700 = 128 3,360
02 32234l 800 800
O&232= ¥ HMAl 800
oTV(AJI0I2t0IZ) AIEE 66,6008 * 128 800
202 Oddl 8,400 8,400
01 2UHoiH| 8,400 8,400
OJl2df=4d =H0HI 840,000& = 10& 8,400
203 ¥R =&dl 5,320 5,320
02 H3IMAMHRFLHI 1,120 1,120
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